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List them and then color them on the drawing above

& Prime numbers between 1 - 15

Composite numbers between 1 - 17

List them and then color them on the drawing above
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Change the fractions to

decimals.
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&\} Change the fractions to decimals.
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E

&%r?rgiz?otnhi c:{jagtrlc?lgz arlgg circle the greater fraction. Color the boxes with ' gﬁ%%%i}%;%ﬂ?ﬁg ta%‘::?:o';‘gg \m?h
1 1 1 3 3 1
3 O g 3 o7 10 O 3
A or 8 3 or 1 2 3
10 9 8 6 10 4
—
?»‘3\} Compare the fractions and circle the greater fraction. Color the boxes with the fraction you circled purple.
7 o 5 6 o 2 7 o 3
3 7 I 3 1 4
1 o1 2 1 1 o 3
10 S 9 8 2 3




430 | 77,000 300 [52,000f19,000] 430 [85,000]77,000 §27,000| 300
Q
W 4,000 39,000 110 ww 5,000 | 220 |67,000 E
67,000 i
39,000 39,000 &q
200 500 {13,000 37,000 | 1,000 200 | &
=0
67,000 890 | 48,000] 1,000 J99,000] 130 500 890 48,000 | 4,000 | @ 'E 8
u u
1
200 | 1,000 | 500 890 | 13,000 | 48,000 | 99,000 | 37,000 | 1,000 {39,000 & E
N <8
i
67,000 5
m 220 |37,000] 130 | 1,000 | 500 890 [13,000 | 110 m -— 3
N
© | @
52,000 E 5,000 | 890 | 13,000 | 48,000 | 99,000 | 5,000 W 300 s &
19,000 7; :
67,000 &
300 | 77,000 110 | 1,000 | 500 220 52,000 | 77,000 | &)
19,000 "
39,000 U')
430 | 85,000 | 27,000 h 200 [67,00 A 300 §19,000 | 430 =:73
(3]
77,000 300 430 [ 19,000 | 52,000 | 27,000 | 85,000 ] 980 |77,000| 300 g
77 L= mL 3m= cm 2m = cm
43 cm = mm 27 L= mL 29 L= mL
19 km = m  85kg= g 67 kg = g
52 kg = g 98 cm = mm 22cm = mm
o
1L= mL 5m= cm 5L = mL
89cm = mm 13 L= mL 11 cm = mm
48 km = m  99kg= g 39 km = m
37 kg = g 13cm = mm 4 kg = g
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35°
32°

81°

43°

92°

>

>

‘99" Find the total measure of the angles below. |‘\\)9 Find the total measure of the angles below.

39°

78°

35°

48°

>

>

19°
22°

57°

49°
28°
>

59°
25°
>

>

Find the total measure of the angles below.
25°

47°
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ANnswer Key

Page 3: Double Digit Multiplication

Page 4: Division

3,549 | 1,404 | 1,558 | 5,183 | 1,558 | 5,183 | 2,075 | 3,549 | 1,404 | 2,075 : 17 R4 |98 R1 |72 R7 72R7|17 R4| 87 R1} 72 R7} 87 R1
51 5,183 % :
2,075 | 5,183 : 1,558 | 3,549 | 1,404 | 2,075 | 3,549 g 87 R1 |72 R7 39 R4| 72 R7| 98 R1} 17 R4} 72 R7 -9
5,183 | 1,558 5,183 § 3,549 | 1,404 | 2,075 %‘- 72 R7 |98 R1 54 R1] 39 R4} 72 R7} 87 R1} 98 R1 .: ®
op— [ ] ol @
1558 1558 - E [\ g
2075 2,075 | 3,549 : 87R1}§17R4§72R7]39 R4]|54 R1]39 R4| 54 R1| 39 R4} 17 R4} 72 R7 1
- =
1,558 | 5,183} 1,558 1 72 R7 |98 R1§39 R4 54 R1]39 R4} 54 R1| 39 R4| 54 R1} 39 R4} 87 R1 g
83
\1.558 u s
N 5,183 % 87 R1 |39 R4 |54 R1|39R4]54 R1|39R4|54 R1| 39 R4} 54 R1} 17 R4 -‘3
- p ﬂ o p—]
5,183 | 5,183 i 1,558 .= 17 R4 98 R1 R
— A )
2075 15,183 > 98 R1 72R7 %
5,183 1,558 & ﬂ
L
1,404 1,558 1,558 | 5,183 | 1,404 | w2 72 R7 |87 R1 87 R1} 17 R4 U’
075 % 73 o
4 [
2,075 | 3,549 | 1,404 | 5,183 5,183 2,075 | 3,549 : i 17 R4 |98 R1 72 R7] 98 R1 = i
1,558 1,558
25 39 52 ‘ﬁ,é’ 53 31 91 u 17 R4 98 R1 72 R7 87 R1 27 R5 48 R3
x 83 x_91 x 27 | x 97 x_41 x 19 7)123 2)197 8)583 3)262 | 7)194 4)195
2,075 3,549 1,404 | 5,141 1,271 1,729
= = b s =
= 4 4 53 50 o5 95 31R7 39R4  54Ri 71R  85R2
x 73 x38 | x57 x9 | x97 x 89 8)256 5)477 | 7)277 2)109 | 2)143 5)427
5,183 1,558 3,021 4,784 2,425 8,455

Page 5: Symmetry

Page 6: Prime and Com

™ Shapes with 1 ‘27 Shapes with
> Dine of \ no lines of

AQ symmetry. |A  symmetry.

List them and then color them on the drawing above

) 19 | 5 7
- =
-53 17 | 2 11 %
o
£ 19715 Eg
£ . g5,
&773 8 17| 3| 2 & Eg
1 =
l 2| 3|17 gi
o £3
- 7 | 13| 19 -98
(o 28
O E 5 2 | 17 ?g
e |7 |98
3 o)
3 =)
012 21 - I
H ]
A ? i 3| 13| 19 i
W Prime numbers between 1 - 15 e Prime

2,3,5,7,11,13

numbers between

16 - 20 Listthem and then color
them on the drawing above

17,19

i Shapes with 2 “S’ Shapes with 3
U linesof  |o or more lines
O<>symmetry. o of symmetry.

o™ Composite numbers between 1 - 17

List them and then color them on the drawing above

4,6,8,9,10,12, 14,15, 16

Composite
numbers between
17 - 23 Listthem and then color

them on the drawing above

18,20, 21, 22




ANnswer Key

Page 7: Fractions and Decimals

Page 8: Comparing Fractions

z 13 )ls|lz]|3]1]s] 3|z
0.75| 0.8 J0.42]0.99|0.75]| 0.8 |0.42|0.99]|0.75| 0.8 é Iz |11¢81g)i u=3
i 9 216z 1 3 S
04 | 07 | 0.2 Jo4s]| 0.7 |0.39| 0.2 J0.48] 0.7 | 0.4 ..% AERNY T AR 47-3
< o | 1] e 213z |} el |
0.67 |0.48] 0.7 |o.18| 0.2 |0.48| 0.7 | 0.08] 0.2 | 0.67 g o 21313 | - AR KR K E .
0.18 7 0. 0.48 k-
07 |04 ol o 04 |oas|E=, 8 N ENE il8 JERE e &
1 g 1 8
3 9 1 9 1 qg-g
0.08 |0.48 07 ] 02 gé 213 2113 &Ea
S3 7 | o Tz |SE
0.2 J0.18] N 7 | 039048 _,sg e 2 1 | "";'33_
0.48]0.08| 0.2 0.08] 02| 07 Q_.'.§ 1]¢ 6 1 & Cl'_-:§
’ i " Jo.0s 048 | ) ) 5 7 7 5 73
0.7 |0.39 |0.48 | 0.7 039] 0.7 |0.48] 0.2 ZD i1z AERERES
0.2 0.7 u @
- s |2 ]3]z 1|3l z|®
0.48| 0.7 | 0.2 |o.08|0.18]0.39]0.48] 0.2 |0.08]0.18 % | N I | B R [ %
]
0.8 |0.75 |0.99 |o.42| 0.8 |0.75|0.99]0.42] 08 |o75|== § z 1 8 2 3 2 z 1 6 2 = &
d ; i d g 0 ; i d i 2 8 5 7 9 4 5 8 5 7 9 s
x!&, Change the fractions to decimals. 2:;7"955‘"9"a°"0"sl° ‘»’9 gzn;’%acr“eowmagﬂ;gzang circle the greater fraction. Color the boxes with &; ;&g&z&?&'fﬁ%ﬁﬁ%@gm;
V4 7 48 _ 4 8 _ 4 _ 4 3 1 3
10=_07 q0=048 705=_008 | j5=_0. or 10 4 Or 10 ©f
£ = (). = (. =22 = ().  or or Vi
100 0 100 0.18 1 0.39 100 0.6 10 6 4
i&} Change the fractions to decimals. v) Change the fractions to decimals. ? Compare the fractions and circle the greater fraction. Color the boxes with the fraction you circled purple.
8 _ 75 75 |.3 5 5 2 7 @
= . i~ = (), Peye == 0. or ¥ or £ = or
10 - 0.8 100 0510 0.03 10 0.5 7 3 10
99 _ 42 _042|42- 012 2021 1 2\ o 1 1
100=_0-89  igp=_042 |5 =_0. {00=_0. 10 © 9)°" 8 2 o
Page 10: Additive Angles
148° | 135° | ' 1age | 1ase | B
° —
=0 ‘o
s 135° | 148° I 135° | 148° 135° | 1480 | S
-g 148° 135° <
%) 148° | 135° 135° | 148° | 135° | 148° |: 148° | 135° g
E n e = 8
o ] 135° o o o o o o o o o o &
< 5 35 98 77 72 135 148 98 72 77 148 g
1
u% 77° | 84° | 72° | 98° 720 | 772 | 720 | s | T
= 1
..g % 84° 72° 98° 77° 84° 72° 98° 72° g
= @ -
Q;Dé’ 720 | 770 | 720 | 84 og° | 77 | 720 | 84 |2
67,000) S h—.:
‘ S 135° | 84° 98° 77° 84° 72° 77° | 148° 73
39,000 (n &
" ED 148° | 135° | 77° | 84° 72° | 98° | 148°| 135° _8
[ % [
i 135° | 148° | 135° | 72° 84° 98° 77° | 148° | 135° | 148° = E
Find the total measure of the angles below. Find the total measure of the angles below.
7702 77,000 m 3m=_ 300 om [*2m= 200 cm L ’ g ’
43cm=_430 mm 27L=_27,000 mL 29L=_ 29,000 mL V \/
19km= 19,000 m 85kg= 85.000g | 67kg=_67,000 4
o ) o
52kg= 52.000 g 98cm=_980 mm | 22em=_220 _mm 17 135 148
Find the total measure of the angles below.
® 1< 1000w sm=_500 em | s 5000
ggcm=_890 mm 13L=13,000mL | 11em=_ 110 mm

48 km = 48,000 m

37 kg =_37.000 g

99 kg =_99.000

13cm=_130 _mm

39km=_39,000 m

QZ

4 kg =

4.000 g

49° 57° 190
28° 22°
77° 98°




